SPECIFICATIONS FOR ADDING 793 FIELDS TO MELVYL INPUT RECORDS FOR SHARED PRINT ITEMS.

1.
BACKGROUND

As part of the Shared Print Collections effort at UC, CDL has been asked to add 793 fields to certain input records. The 793s will contain collection names. 793s are indexed and will allow UC collection development personnel to identify and retrieve records in Melvyl by specific collection.
2. 
SCOPE

These specifications address all records processed by the suite of  “converter” programs used in Melvyl pre-load processing.  Each converter has it’s own specification that will, in time, be updated to include or refer to the information in this document.
3. 
DESCRIPTION OF FUNCTION

a. Change converter code to create search keys from CDL 852 fields, do a table look up using the keys, and create 793 fields in records whose keys matched table entries.

b. Create a 793 table that contains key values and corresponding text to be used in creating 793 fields. 
Each record processed by each converter must be checked on output to see if it should have a 793 field added to the output record.  To make this determination,  check the contents of the $a and the $b of each 852 field in the output record.  The $a contains the maintenance code for the record, a value that is also repeated in the 901 $a of the output record.  The $b contains the location code.  Here are some examples, using UCLA records.

901       $a LAGE  $b 91923 

852  __ $a LAGE  $b muclsdmm $j DVD

852  __ $a LAGE  $b bi $h W1 $i AM267

852  __ $a LAGE  $b srucl2 

A search key should be built from each 852 and should include the contents of the $a followed by the contents of the  $b.  The search keys from the above examples would be:

LAGEmuclsdmm

LAGEbi

LAGEsrucl2

The search key should be used to access a “793 table” that will need to be built as part of this programming task.

If a match is found on the table, a 793 field should be created using the data associated with the matching key.  

The 793 field will contain subfields $a and $p.  Its indicator values will be blank. 

The table should contain three columns and 1,500 rows to allow for future growth.  Column content will be:

Column 1:  contains the search key

Column 2:  contains the contents of the output 793 $a

Column 3:  contains the contents of the output 793 $p

The columns will have fixed widths and should be:

Column 1:  30 characters

Column 2:  50 characters

Column 3:  80 characters

Example:

	LAGEsrucl2
	UCL Shared Print
	JSTOR serials

	DVXLsrucl3
	UCL Shared Print
	Godzilla Collection

	LAGEsrucl3
	UCL Shared Print
	Godzilla Collection

	SDBsrucl4
	UCL Shared Print
	Mothra Collection


Using the previous UCLA 852s as examples, here’s what should happen

Input record:

852  __ $a LAGE  $b muclsdmm $j DVD

852  __ $a LAGE  $b bi $h W1 $i AM267

852  __ $a LAGE  $b srucl2 

Output record:

793  __ $a UCL Shared Print $p JSTOR serials

852  __ $a LAGE  $b muclsdmm $j DVD

852  __ $a LAGE  $b bi $h W1 $i AM267

852  __ $a LAGE  $b srucl2 

4. 
ACTUAL TABLE CONTENTS
At this time, the table will have only one entry.  It  should have the following contents

	LAGEsrucl2
	UCL Shared Print
	JSTOR serials
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